SFAE 8H  HAH HRDEGETIGRA (ARFES) Gl P. 1
M4 AT FEMRIK FER TG
e AR R b X BT A K
5 R O E fili — ~ — ~
(t) (M/kg) ¥ = fii % ¥ & fii &
(%) (%) (%) (%)
[[E37Y 5,102.2 248 106. 0 115.3 85.2 102. 1
detgiE 1,774.2 222
£ w 1,339.1 130
=5 337.8 82
& JE 271.7 183
I 242.7 374
AN 493.9 114 81.4 170. 1 115.3 87.7
deigiE 423. 4 116
JARBN 0.5 322 8.1 292.7 17.3 231.7
H A& 0.5 322
WA LA 192.0 138 103.9 97.9 73.7 97.9
deigiE 191.5 138
ZiES 18.0 331 101.5 75.2 64.7 95. 4
BV 6.0 505
=g 5.9 325
=5 5.1 120
AT 9.9 616 167.5 98. 2 90.9 82.9
(= 6.5 654
e B 2.8 537
1< &N 414.4 70 102. 2 98. 6 87.3 112.9
E % 411. 4 70
PAS AN 18.0 424 98.8 109.8 93.3 92.2
B 8.0 461
KO 4.4 338
I 3.1 639
ZEok 29.9 292 114.6 78.7 93.4 81.3
®oOhR 13.3 296
& 8.5 217
I 3.5 355
Z Ot O FFE 0.3 917 96.9 114.5 40.5 133.9
I 0.3 917
BT AEN 9.4 325 92.5 125.0 78.7 109. 1
E % 4.5 236
FiEa | 3.4 417
XY 504. 9 74 102. 7 91.4 81.4 104. 2
=5 324.8 73
E % 180. 1 76
EH5NAED 12.0 940 71.2 116.6 57. 4 118.1
Iz R 9.7 867
nE 49.9 642 103.5 122.1 66. 2 148.6
I 12.4 821
5 Om 12.3 480
deigiE 9.4 503
X 4 3.5 532
Wy 3.2 766
HE 0.1 359 160. 0 109. 1 76. 2 126. 4
/I N 0.1 365
HolE 4.8 827 107.4 103.8 97.3 102.6
= i 3.1 728
X 4 1.0 600
L AEL 0.3 1,697 112.3 113.6 106. 6 102.5
I 0.2 1,714
) 18.9 610 85.5 100. 8 72.5 118.9
= 9.3 659
X 4 9.3 555
Ly — 6.1 283 95.7 96. 6 105. 7 93. 1
E % 6.0 278




sS4 8 WA HRDEGETIGRA (ARFES) Gl P. 2
M4 AR T A FEMRIK FER TG
= S HTAE [ ) b X BT A K
B B L OE He L fili — : A :
(t) (M/kg) ¥ = fii % B & fii &
(%) (%) (%) (%)
T ARG H A 13.8 930 86.9 123.5 77. 4 105. 2
e 5.2 904
& 4.6 905
E % 1.5 1,129
5 HEgA 0.0 1, 836 25.0 100.0 — —
HYTTU— 2.9 297 217.5 110.4 111.0 79.6
E % 2.9 297
Tuayal— 64.5 457 123.5 83. 4 72.3 97. 4
deigiE 60. 1 452
L&A 513.3 150 104. 2 108.7 91.5 110.3
E % 509. 6 148
) 0.7 1,896 108.6 101.7 76.5 139.4
E % 0.6 1, 680
deigiE 0.1 1,495
2WwIHD 222.5 271 165.6 76.8 89. 6 108. 8
I 62. 8 224
(= 58. 7 341
T OIR 41.9 232
E % 21.1 282
NEL 91.7 192 163.3 123.9 67. 1 97.5
deigiE 63.8 166
Ao 11.6 171
A 201.3 261 136. 2 87.6 85.7 98.5
I 99.5 257
(= 44.1 256
& ) 15.8 169
| 12.9 271
k= k 515.6 390 96. 2 139.8 85.2 110.2
deigiE 243. 1 382
I 215.4 385
I=hk=Fh 114.7 818 118.9 164. 3 97.2 112.8
deigiE 69.9 815
®OHR 31.1 806
B~y 96.9 426 88. 2 165.8 91.1 115.4
X 4 54.7 402
= JE 13.4 386
®OhR 6.1 469
H A& 4.9 388
LLEIBRBL 36. 2 738 116.6 102.9 90. 3 81.5
I 32.3 736
Af—Fa—y 98.3 251 92.8 120. 1 90. 1 93.7
deigiE 90.8 257
SRV A 4.1 1,184 174.0 74.0 89.7 87. 1
deigiE 2.9 1,353
E % 0.5 768
ERZAED 0.8 3,113 90. 1 123.6 85.7 113.0
deigiE 0.8 3,113
ZEED 29. 2 679 90. 8 97.1 78. 4 99. 1
I 11.8 510
Iz R 7.6 717
& 6.9 1,035
ALk 57.7 316 94.5 93.8 57. 4 94.0
(= 34.3 309
KO 15.0 350
IFhuv Lok 280. 6 149 130.5 110.4 79.9 107.2
deigiE 237.6 155




TRAFE 8H A TAREE T SA (FRIRR) m5h P. 3

M4 AT FEMRIK FER TG
v o SRR [F ) b B TR R
B B L OE He L fili — : — :
(t) (M/kg) ¥ = fii % B & fii &
(%) (%) (%) (%)
RS 16. 1 360 119.0 99.7 74.8 104.3
=0 9.5 325
BV 6.1 346
REDNE 55. 7 305 73.6 109. 7 72.8 107. 8
deigiE 49.0 295
EhRE 540. 9 149 113.5 140. 6 78.0 81.0
deigiE 321.7 130
= JE 215.6 177
5 B A 3.2 142 263.5 137.9 147.1 89.9
WZAiz 3.9 593 76. 3 54.9 48.1 72.7
H A& 0.6 1,741
X 4 0.3 1,018
B A 0.1 611
I 0.1 2,490
2 LA 2.9 291 94.9 99.7 68.1 100. 3
LxoMn 16.8 602 97.5 102. 2 68. 7 112.7
Fnak L 8.1 445
= 7.2 788
5 B A 1.0 367 146. 3 85.5 94.8 100. 0
L= 36.5 779 97.2 117.7 100. 4 108. 0
(= 12.5 965
Fnak L 5.7 569
i I 4.3 698
= 4.0 1,026
5 W 3.1 523
Rz 3.2 376 103.5 113.3 72.6 113.3
E % 2.9 357
ZDETF 82.7 140 126.9 76.9 101.7 113.8
E % 82. 7 140
Lol 70. 2 226 150. 1 76. 4 112.0 105. 1
E % 64.9 216
ZF DA B 148.3 819 135.3 84.3 77.1 111.4
i I 25.6 126
E % 21.5 210
& 13.3 228
A 11.7 3,714
[ 9.3 653
[N 15.4 1, 320 86. 1 99.3 76.6 124.3
fttn oD B A B 3 8.3 2,253 67.1 128.0 65. 6 146. 6




sS4 8 WA HRDEGETIGRA (ARFES) Gl P. 4
M4 AT FEMRIK FER TG
v o SRR [F ) b B TR R
B B L OE He L fili — : — :
(t) (M/kg) ¥ = fii % B & fii &
(%) (%) (%) (%)
R 752.7 536 107.7 99.8 60.5 100. 8
E % 114.9 387
A 79.8 1,156
(= 67.0 512
i 41.9 273
& 32.4 1,824
EE R FE g 460. 1 690 109. 8 97.5 47.3 114. 4
E % 114.9 387
A 79.8 1,156
(= 67.0 512
i 41.9 273
& 32.4 1,824
I i 1.5 1,062 62.0 101.9 19.4 119.9
E % 1.4 1,054
Z DM A 2.4 1,412 144. 0 190. 6 130.0 71.0
(= 1.6 1, 458
= 0.4 1,486
D A ZE 48. 4 461 113.9 124.6 137.4 94.5
E % 38.9 480
DND 7.3 472 78.6 121.3 767. 4 114.6
E % 7.3 472
Vafad—/L K 3.6 351 38.1 110.0 20. 6 77.8
H A& 3.6 351
ENY 3.6 395 79.0 109. 1 23.4 76. 8
H A& 3.6 395
ZoMmY AT 33.9 477 182. 6 121. 4 2404. 0 66. 2
E % 31.6 482
HARZ: LEt 96. 0 530 109. 8 91.2 68.3 80.3
(= 65. 4 489
B Om 19.3 700
EIN 62.5 500 173.6 90. 7 55. 7 83.2
(= 52.3 499
VN 15.9 437 47.5 82.8 - —
(= 13.1 446
B i 3.4 862 41. 4 105.3 12.5 95. 4
BOm 3.4 862
Z Ot L 14.2 686 144.6 101.8 1155.3 95. 4
B Om 14.2 686
MEE 0.1 1,117 33.3 102.6 58.8 103. 4
= R 0.1 1,117
s & 0.1 1,117 33.3 102. 6 58. 8 103.4
= R 0.1 1,117
(333 50. 1 709 130. 4 82.1 38.0 97.3
(o #4 23.6 853
(= 17.9 568
THH 9.2 639 76.8 100.0 31.0 88.0
A 7.8 613
SE9E 90. 8 1,597 102.5 103.1 86. 1 92.7
A 48. 4 1,392
& 30. 7 1,872
FITxT 13.9 843 71.4 96. 2 53.1 92.0
(o #4 11.0 893
(1T 17 2.7 644
Eil 28.6 1,297 113.9 97.2 85. 1 90. 1
A 17.1 1,324




TRAFE 8H A TAREE T SA (FRIRR) m5h P. 5

M4 AR T A FEMRIK FER TG
e AR R D b B TR R
5 R O E fili — ~ — ~
(t) (M/kg) ¥ = fii % B & fii &
(%) (%) (%) (%)
ELlE 28.6 1,297 113.9 97.2 85. 1 90. 1
& 11.3 1,253
ZOfEE S 48. 4 1,991 109. 7 101. 3 105. 6 83.3
A 20.3 1,720
& 19. 4 2,233
<Y 0.0 1, 800 6.0 220.3 — —
T IR 0.0 1, 800
W2 0.1 3,417 103.5 95. 3 44.0 130.6
E % 0.1 2,910
deigiE 0.0 5, 256
A vEt 13.3 667 50.9 141.0 18.4 130.0
[ 3.6 1,093
deigiE 2.2 625
I 2.1 517
KO 2.1 638
(1T 17 1.3 330
BEAT Y 7.0 900 116.1 97.5 44. 1 110.4
FiEa | 3. 1,093
KO 2.1 638
TUTFAARY 0.1 432 1.1 168. 1 0.2 111.9
& 0.1 432
Z O A v 6.3 408 40. 4 112.7 20. 3 87.7
deigiE 2.2 625
e 1.2 326
B 1.2 165
I 1.0 189
ERAY 121.7 236 120. 0 97.1 28.8 92.5
E % 62.5 241
& 37.7 244
it o> [E] pE e 5 26.3 563 148. 2 94. 1 110.0 67.3
I 21.7 485
g AN SR IE5 292.7 295 104. 7 105.0 107.7 105. 7
Avava 177.4 174 129.5 126.1 107.4 101.2
RAF T 20. 1 252 78.7 114.0 94. 8 110. 0
LE 13.5 488 136.5 138.2 184.6 100. 2
L= T = 17.5 254 108.8 123.3 110.5 98. 1
Frov 20.0 365 75.3 139. 3 115.0 98. 1
AR L&D 0.0 2,363 — — 12.3 112.0
BAF T A 70— 33.4 601 71.4 103.8 105. 0 105. 8
[N = 1.0 470 106. 6 161.0 323.3 94. 6
fth > iy A FL 5 9.8 1,174 58.0 154.3 78.3 146.9




